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Continuation of part 1 of pattern

You will need the same two shuttles with the same thread on each (colour 1).

Row 3 – start as row 1 hiding ends
R9: 2 + (p on R5) 2 vsp 2 – 2 Cl
SR10:2 – 2 / 2 + (SR6) 2 Cl
SR11:4 / 2 + (SR7) 2 Cl RW
Ch: 12 Tie an overhand knot and cut leaving ends of roughly 2”.
Row 4 – start as row 1 hiding ends
R12: 2 + (p on R9) 2 vsp 4 Cl
SR13:4 / 2 + (SR10) 2 Cl
SR14:3 / 3 Cl RW
Ch: 10 Tie an overhand knot and cut leaving ends of roughly 2”.

Put part 1 to one side – you will not need it again until nearer the completion of the ?!@£&£
%**(!$.

This colour will also not be needed again.

Before day 3 you can either un-wind these two shuttles and re-wind with your colour 2 choice 
OR just prepare 2 further shuttles.

You CAN wind these two CTM but I will be showing another way of starting the second shuttle 
without leaving any ends to sew in.

http://www.janeeborall.freeservers.com/TIAS2010ene.pdf

